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Word Problem Practice:

A CD club charges members an introductory fee of $12.50 plus $7 per CD purchased.  Valerie paid a total of  $173.50 in fees.  How many CDs did she purchase?









A bag of candy consists of sour patch kids, life savers, and gummi bears.  There 15 gummi bears in the bag, there are 8 more life savers than sour patch kids, and there are twice as many sour patch kids as gummi bears.  How many pieces of candy are there total in the bag?
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A school bus has 12 rows of seats.  Each row of seats can sit four students.  The bus makes 3 separate trips to school.  Assuming the bus is full for each run, what is the total number of students the bus transports to school?
